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. When will be the case of Binary Search Worst Case?

X and Y — Random Variable
E(X/Y) — Conditional Expected Value of X/Y
E(E(X/Y)) =7

Hash table [0.....9]

h(x)= 3x%10

Keys given 1,4,5,6,14,15

Using Linear Probing, in which index will keys 14 and 15 be stored?

Consider the following declaration of
A=[1,2,3]and B = [4,5,6]
Which of the following statements result in A =[1,2,3,4,5,6]?
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7. Suppose that Insertion Sort is applied to the array [1,3,5,7,9,11,x,15,13], and it takes
exactly two swaps to sort the array. Select all possible values of x.

a) 14

b) 16
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